
Anglický jazyk
3A 3B

výborně 13 16 29

chvalitebně 3 3 6

dobře 0 0 0

dostatečně 0 0 0

nedostatečně 0 0 0

1,19 1,16 1,17

AJ 3.A

výborně

chvalitebně

dobře

dostatečně

nedostatečně

AJ 3.B

výborně

chvalitebně

dobře

dostatečně

nedostatečně

AJ 3

výborně

chvalitebně

dobře

dostatečně

nedostatečně



Český jazyk - diktát
3A 3B

výborně 8 13 21

chvalitebně 6 4 10

dobře 0 3 3

dostatečně 0 0 0

nedostatečně 5 1 6

2,37 1,67 2

ČJ d. 3.A

výborně

chvalitebně

dobře

dostatečně

nedostatečně

ČJ d. 3.B

výborně

chvalitebně

dobře

dostatečně

nedostatečně

ČJ d. 3

výborně

chvalitebně

dobře

dostatečně

nedostatečně



Český jazyk - mluvnice
3A 3B

výborně 8 17 25

chvalitebně 7 4 11

dobře 1 0 1

dostatečně 0 1 1

nedostatečně 0 0 0

1,56 1,32 1,42

ČJ ml. 3.A

výborně

chvalitebně

dobře

dostatečně

nedostatečně

ČJ ml. 3.B

výborně

chvalitebně

dobře

dostatečně

nedostatečně

ČJ ml. 3

výborně

chvalitebně

dobře

dostatečně

nedostatečně



Matematika
3A 3B

výborně 11 17 28

chvalitebně 5 4 9

dobře 0 0 0

dostatečně 0 1 1

nedostatečně 0 0 0

1,31 1,32 1,32

M 3.A

výborně

chvalitebně

dobře

dostatečně

nedostatečně

M 3.B

výborně

chvalitebně

dobře

dostatečně

nedostatečně

M 3

výborně

chvalitebně

dobře

dostatečně

nedostatečně



Prvouka
3A 3B

výborně 8 7 15

chvalitebně 6 11 17

dobře 2 4 6

dostatečně 0 0 0

nedostatečně 0 0 0

1,63 1,86 1,76

Prv 3.A

výborně

chvalitebně

dobře

dostatečně

nedostatečně

Prv 3.B

výborně

chvalitebně

dobře

dostatečně

nedostatečně

Prv 3

výborně

chvalitebně

dobře

dostatečně

nedostatečně


